



A Brambles Company

# TRANSFER HIRE ADVICE NOTE 423 0891854

Sending Location Account Number: 14196		Sending Location Details: Apex		Effective Transfer Date: 15 04 20 25	
Sending Location Name: HAWESWOOD		Receiving Location Details: BRACKENFALL		Registration Number / Truck Number: HKJ 774 FS	
Receiving Location Account Number: HAWESWOOD		Reference Description: Alcohol		Driver's Name: Jackson	
Reference Number 1: 20509		Reference Description: (blank)		Account Date: 17 04 20 25	
Reference Number 2: (blank)		Reference Description: (blank)		Checked By Name: (blank)	
Reference Number 3: (blank)		Reference Description: (blank)		Checked Signature: (blank)	
Equipment Code: (blank)		Equipment Description: (blank)		CHEP Help line: Toll free - 0800 330 334 Mail: za_info@chep.com	
Quantity: 36		Equipment Code: (blank)		Equipment Description: (blank)	
(blank)		(blank)		(blank)	
(blank)		(blank)		(blank)	
(blank)		(blank)		(blank)	

CHEP never sells or transfers ownership of its Equipment. Unauthorised trading, appropriation, use or disposal of CHEP equipment is strictly prohibited. Report Illegal Activity - Contact Tip-Offs Anonymous on 0800 003 310 or email [chep@tip-offs.com](mailto:chep@tip-offs.com)



# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd t/a Halewood South Africa  
Company Registration number 1998/001887/07  
www.halewood.co.za

61 TORONTO STREET  
APEX EXTENSION 1  
BENONI 1501

TEL: +27 11 746 4200  
FAX: +27 11 422 5888

BANKING DETAILS:  
FIRST NATIONAL BANK  
A/C NO: 62889748368  
BRANCH CODE: 240129  
REFERENCE:

VAT Reg No: 4590177624

**\*REPRINT\***

Printed on: 11/04/2025  
at: 13:12:36

**INVOICE TO:** Halewood - Johannesburg  
Halewood International S A (Pty) Ltd  
61 Toronto Street  
Apex Extension 1  
Benoni  
1501

**DELIVER TO:** Halewood - Cape Town  
Halewood International S A - Cape Town  
12 Gemini Street  
Brackenfell  
Cape Town  
Barry

Shipping Instructions:



29941

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HC	2007966		11/04/25	11/04/25			

  

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
BELGINTON440ML	BELGRAVIA GIN & TONIC RTD CAN 440ML @ 5%	CS	4	0	HH	271.46	271.46
BUFFELKOL24X275	BUFFELSFONTEIN BRANDEWYN & KOLA RTD NRB 275ML @ 5%	CS	78	0	HH	229.75	17,920.65
HIBGALE24X200	HALL & BRAM GINGER ALE CAN 200ML @ 0%	CS	7	0	HH	86.79	607.56
HIBNSTONIC24X200	HALL & BRAM NO SUGAR TONIC WATER CAN 200ML @ 0%	CS	2	0	HH	84.89	169.78
HIBPINK24X200	HALL & BRAM PINK TONIC WATER CAN 200ML @ 0%	CS	43	0	HH	86.40	1,123.22
HIBPURPLE24X200	HALL & BRAM PURPLE TONIC WATER CAN 200ML @ 0%	CS	2	0	HH	88.73	177.46
RSENGY27524PIB	RED SQUARE VODKA ENERGY RTD NRB 275ML @ 5.4%	CS	78	0	HH	237.00	18,486.20
RSVODKA20012S	RED SQUARE VODKA 200ML @ 43%	CS	30	0	HH	409.92	12,297.46
SKDPEACH	SKINNY DIVA PEACH PUNCH RTD NRB 275ML @ 3%	CS	4	0	HH	179.00	715.99

# HALEWOOD

CHITIP PAWERS - 36  
DUNDEE BROWN - 29

HALL & BRAM GINGER ALE 200ML  
(29941 Damaged)

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd t/a Halewood South Africa  
Company Registration number 1998/001887/07  
www.halewood.co.za

61 TORONTO STREET  
APEX EXTENSION 1  
BENONI 1501

TEL: +27 11 746 4200  
FAX: +27 11 422 5888

BANKING DETAILS:  
FIRST NATIONAL BANK  
A/C NO: 62889748368

VAT Reg No: 4590177624

BRANCH CODE: 240129  
REFERENCE:

Printed on: 11/04/2025  
at: 13:12:36

**\*REPRINT\***

**INVOICE TO:** Halewood - Johannesburg  
Halewood International SA (Pty) Ltd  
61 Toronto Street  
Apex Extension 1  
Benoni  
1501

**DELIVER TO:** Halewood - Cape Town  
Halewood International SA - Cape Town  
12 Gemini Street  
Brackenfell  
Cape Town  
Barry

Shipping Instructions:  
  
29941

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HC	2007966		11/04/25	11/04/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
WCPOGUES1X750	POGUES IRISH WHISKEY 750ML @ 43%	EA	0	606	HH	198.03	120,009.03
ORIMARG30012S	ORIGINAL ICE MARGARITA COCKTAIL POUCH 300ML @ 5%	CS	26	0	HH	117.29	3,049.57
BELGRAVGIN750	BELGRAVIA LONDON DRY GIN 750ML @ 43%	CS	208	0	HH	689.28	143,370.79
BELGRAVPINGIN750ML	BELGRAVIA PINK GIN 750ML @ 30%	CS	15	0	HH	514.23	7,713.40
BUFFELBRA750	BUFFELSFONTEIN BRANDEWYN 750ML @ 43%	CS	312	0	HH	830.07	258,982.45
BUFFELWINEPIN750ML	BUFFELSFONTEIN PINOTAGE WINE 750ML @ 14%	CS	3	0	HH	358.80	1,076.40
CTRUMBLACK750ML	CARIBBEAN TWIST BLACK RUM 750ML @ 43%	CS	8	0	HH	810.92	4,865.50
CTRUMSPCED750ML	CARIBBEAN TWIST SPICED RUM 750ML @ 35%	CS	3	0	HH	644.42	1,933.25
RSVODKA750ML	RED SQUARE VODKA 750ML @ 43%	CS	104	0	HH	691.43	71,908.24
RSVODLIME750ML	RED SQUARE FLAVOURED VODKA LIME 750ML @ 25%	CS	18	0	HH	450.72	3,605.76
RSVODPASFRU750ML	RED SQUARE FLAVOURED VODKA PASSION FRUIT 750ML	CS	104	0	HH	444.38	46,215.53
SKCOOK/CRE750	SIDEKICK COOKIES CREAM LIQUEUR 750ML @ 15.5%	CS	8	0	HH	402.55	3,220.36
SKSTRA/CRE750	SIDEKICK STRAWBERRY CREAM LIQUEUR 750ML @ 15.5%	CS	7	0	HH	387.85	2,714.92
BELGINDLEM275ML NA	BELGRAVIA GIN & DRY LEMON NON ALCOHOLIC NRB 275ML	CS	27	0	HH	112.37	3,034.05
HBBLUETONIC24X200	HALL & BRAM BLUE TONIC WATER CAN 200ML @ 0%	CS	2	0	HH	88.41	176.82
BUFFLAGDRAUGHT30L	BUFFELSFONTEIN LAGER DRAUGHT @ 4%	EA	0	4	HH	665.00	2,660.00

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd t/a Halewood South Africa  
 Company Registration number 1998/001887/07  
 www.halewood.co.za

61 TORONTO STREET  
 APEX EXTENSION 1  
 BENONI 1501

TEL: +27 11 746 4200  
 FAX: +27 11 422 5888

BANKING DETAILS:  
 FIRST NATIONAL BANK

A/C NO: 62889748368  
 BRANCH CODE: 240129  
 REFERENCE:

VAT Reg No: 4590177624  
 SOUTH AFRICA

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

\*REPRINT\*

Printed on: 11/04/2025  
 at: 13:12:36

**INVOICE TO:** Halewood - Johannesburg  
 Halewood International S A (Pty) Ltd  
 61 Toronto Street  
 Apex Extension 1  
 Benoni  
 1501

**DELIVER TO:** Halewood - Cape Town  
 Halewood International S A - Cape Town  
 12 Gemini Street  
 Brackenfell  
 Cape Town  
 Barry

Shipping Instructions:



29941

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HC	2007966		11/04/25	11/04/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
BUFFLAGERKEG30L	BUFFELSFONTEIN LAGER KEG	EA	0	3	HH	400.00	1,200.00
BELGRAVGIN200	BELGRAVIA 200ML @ 43%	CS	<del>24</del>	0	HH	410.54	9,853.05
RSVODKAPAPPLE750ML	RED SQUARE VODKA PINEAPPLE 750ML @ 25%	CS	<del>7</del>	0	HH	438.95	3,072.68
RSVODKAWBERRY750ML	RED SQUARE VODKA WILD BERRY 750ML @ 25%	CS	<del>15</del>	0	HH	444.48	6,667.26
PEAKYBLINDER750ML	PEAKY BLINDER WHISKEY 750ML @ 43%	EA	0	<del>114</del>	HH	184.28	21,008.15
APPELDARKRUM750	APPEL JAGTERS GEES DARK RUM 750ML @ 43%	EA	0	<del>6</del>	HH	159.94	959.61
GELSBLENDWH1X750	GELSTON BLENDED IRISH WHISKEY 750ML @ 43%	EA	0	<del>30</del>	HH	192.33	5,769.85
DMFCOFFEE750	DEAD MAN'S FINGERS COFFEE RUM 750ML @ 37.5%	EA	0	<del>12</del>	HH	151.58	1,819.01
BUFFELBRA200	BUFFELSFONTEIN BRANDEWYN 200ML @ 43%	CS	<del>13</del>	0	HH	486.83	6,328.76
MUSGRVAGORI12	MUSGRAVE GIN ORIG CASE of 12 X 50ML	CS	<del>1</del>	0	HH	305.04	305.04
MUSGRVAGPNK12	MUSGRAVE GIN PINK CASE of 12 X 50ML	CS	<del>1</del>	0	HH	309.18	309.18
BELGINDLEM660ML	BELGRAVIA GIN & DRY LEMON RTD NRB 660ML @ 5%	CS	160	0	HH	252.57	40,411.17
HASENRACHE750ML	HASENPACHE HERBAL LIQUEUR / 50ML @ 35%	EA	0	<del>90</del>	HH	119.29	10,736.23
CTPWATERMELON440ML	CARIBBEAN TWIST WATERMELON RTD CAN 440ML @ 5%	CS	243	0	HH	272.47	66,210.57
RSPINECRUSH440ML	RED SQUARE PINE CRUSH RTD 440ML @ 5%	CS	<del>1</del>	0	HH	272.55	272.55
APPELGOUEFOUTE275ML	APPEL GOUE FOUTE 275ML RTD NRB GEKRUIDE APPEL GEUR	CS	<del>1</del>	0	HH	214.04	856.15

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd t/a Halewood South Africa  
Company Registration number 1998/001887/07  
www.halewood.co.za

61 TORONTO STREET  
APEX EXTENSION 1  
BENONI 1501

PO BOX 2132  
BENONI 1500  
SOUTH AFRICA

BANKING DETAILS:  
FIRST NATIONAL BANK  
A/C NO: 62889748368  
BRANCH CODE: 240129  
REFERENCE:

\*REPRINT\*

Printed on: 11/04/2025  
at: 13:12:36

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

INVOICE TO: Halewood - Johannesburg  
Halewood International S A (Pty) Ltd  
61 Toronto Street  
Apex Extension 1  
Benoni  
1501

DELIVER TO: Halewood - Cape Town  
Halewood International S A - Cape Town  
12 Gemini Street  
Brackenfell  
Cape Town  
Barry

Shipping Instructions:  
  
29941

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
HOBNECTARNAROSE250ML	HOUSE OF BNG NECTAR NON-ALCOHOLIC ROSE 250ML @ 0%	CS	34	0	HH	730.44	24,834.96
WHITGINRHUBLOC750ML	WHITLEY NEILL APERITIF RHUBARB & GINGER LOC 750ML	EA	0	0	HH	120.54	13,018.18
BELGINDCHY750ML	BELGRAVIA GIN & DARK CHERRY 750ML @ 30%	CS	312	0	HH	528.44	164,873.89
SWITCHDLEMON275ML	SWITCH DRY LEMON NRB ENERGY DRINK 275ML @ 0%	CS	156	0	HH	112.06	17,480.71
SWITCHORIG275ML	SWITCH ORIGINAL NRB ENERGY DRINK 275ML @ 0%	CS	234	0	HH	111.97	26,201.30
SWITCHSBOK275ML	SWITCH SPRINGBOK NRB ENERGY DRINK 275ML @ 0%	CS	156	0	HH	112.04	17,478.24
ORIMARG4X2LTR	ORIGINAL ICE COSMOPOLITAN COCKTAIL 4 X BOX 2LTR	CS	3	0	HH	254.90	764.70
ORIMARG4X2LTR	ORIGINAL ICE MARGARITA COCKTAIL 4 X BOX 2LTR	CS	7	0	HH	223.86	1,567.02
ORIPINA4X2LTR	ORIGINAL ICE MOJITO COCKTAIL 4 X BOX 2LTR	CS	4	0	HH	233.73	934.92
ORISSLING4X2LTR	ORIGINAL ICE PINA COLADA COCKTAIL 4 X BOX 2LTR	CS	10	0	HH	232.88	2,328.81
ORISTRAW4X2LTR	ORIGINAL ICE SINGAPORE SLING COCKTAIL 4 X BOX 2LTR	CS	5	0	HH	265.50	1,327.50
BUFFELKOL660ML	ORIG ICE STRAWBERRY, DAQUIRI COCKTAIL 4 X BOX 2LTR	CS	11	0	HH	239.31	2,632.45
BELGINPEACHLEM275ML	BUFFELSFONTEIN BRANDWEYN & KOJA RTD NRB 660ML @ 5%	CS	33	0	HH	272.30	10,619.60
PALLET	BELGRAVIA GIN & PEACH LEMONADE RTD NRB 275ML @ 5%	CS	312	0	HH	214.42	66,898.83
DIVIDERBOARD-DISTRIBUTI	GENERAL PURPOSE PALLET	EA	0	34	HH	138.00	4,692.00
	DIVIDER BOARDS DISTRIBUTION	EA	0	34	HH	5.22	177.48

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HC	2007966		11/04/25	11/04/25			

Gen 102605

PAYMENT TERMS STRICTLY C.O.D. UNLESS CREDIT TERMS HAVE BEEN ARRANGED IN WRITING

0 2,811 1,041

**TRANSPORTATION:**  
 PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION  
 Any discrepancy between goods received and those detailed in this Waybill should be immediately notified.  
 No responsibility accepted for goods signed for unchecked  
 No goods may be returned unless prior arrangements are made in writing  
 Returns are subject to a 10% handling charge  
 Commercial quality equipment is not to be used for lifting applications

VEHICLE REGISTRATION No: ..... PRINT NAME: .....  
 SIGNATURE ..... DATE .....

**CUSTOMER:**  
 PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION  
 Any discrepancy between goods received and those detailed in this Waybill should be immediately notified.  
 No responsibility accepted for goods signed for unchecked  
 No goods may be returned unless prior arrangements are made in writing  
 Returns are subject to a 10% handling charge  
 Commercial quality equipment is not to be used for lifting applications

PRINT NAME: *Rayton* .....  
 SIGNATURE *[Signature]* ..... DATE 17.4.25 .....

SUB-TOTAL	ZAR	1,261,316.71
VAT	ZAR	0.00
TOTAL	ZAR	1,261,316.71